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19. %E5<4 M>E>464F<< 4?O D47D45>F>< E6<FO <7 46GE E5?<65==OE ?>?>7<E ??4EF>6 E> E>4?L=>= 6E>DOL5= 
(m1=10 <, m2=15 <, �1=15 <, �2=35 <). �D>D<?L EE5<O M>E>464F<<.  
 

20. «.6=>>G754EE>4O» EE5<4 M>E>464F<< (?D>D<?L). �E>55==>EF< EE5<O. �D<=F<? D45>FO 
>5>DG4>64=<O. �5?4EFL ?D<<5=5=<O. �>EF><=EF64 < =54>EF4F><.  
 

21. «�>E>6E>4O» EE5<4 M>E>464F<< (?D>D<?L EE5<O). �E>55==>EF< EE5<O. �D<=F<? D45>FO 
>5>DG4>64=<O. �5?4EFL ?D<<5=5=<O. �>EF><=EF64 < =54>EF4F><.  
 

22. «$4=G<E<=E>4O» EE5<4 M>E>464F<< (?D>D<?L EE5<O). �E>55==>EF< EE5<O. �D<=F<? D45>FO 
>5>DG4>64=<O. �5?4EFL ?D<<5=5=<O. �>EF><=EF64 < =54>EF4F><.  
 

23. «'5D5<E>6E>4O» EE5<4 M>E>464F<< (?D>D<?L EE5<O). �E>55==>EF< EE5<O. �D<=F<? D45>FO 
>5>DG4>64=<O. �5?4EFL ?D<<5=5=<O. �>EF><=EF64 < =54>EF4F><.  



 
24. «'>D4<=E>4O», «�>4<>E>>6=4O» EE5<O M>E>464F<<. �E>55==>EF<. �D<=F<? D45>FO >5>DG4>64=<O. 

�5?4EFL ?D<<5=5=<O. �>EF><=EF64 < =54>EF4F><.  
 

25. &5E=>?>7<G5E>4O EE5<4 D47D45>F>< =4=>E>6 >4DL5D=>= ?>?4F>= L<D>><<< 74E>4>4<< E ?>7DG7>>= 
?>D>4O 6 46F>FD4=E?>DF.  
 

26. �4<=>G=4O ?5D564?>4 =464? 4D47?4==>< (?D>D<?L EE5<O, ?4D4<5FDO). �?F<<<74F<O >>>D4<=4F 
GEF4=>6><. &5E=>?>7<O <=>7>>D4F=>= ?5D564?>< ?>D>4=>7> =464?4 4D47?4==><.  
 

27. &5E=>?>7<G5E>4O EE5<4 D47D45>F>< 46GE E5?<65==OE ??4EF>6 G7><<< 74E>4>4<<.  
 

28. �4E?>DF 745>O < 57> 7=4G5=<5. �D46<?4 557>?4E=>EF<, E>5?N445<O5 ?D< D47D45>F>5 ?4E?>DF>6  
 
745>56.  
 

29. &<?O ?<=<= < <E =47=4G5=<5 =4 G5DF564E >F>DOFOE 7>D=OE D45>F. �5>7=4G5=<5 >F>>E>6 GEFG?>6  

 

 

 

 



< =4EO?5=. �5>7=4G5=<5 G7>?L=OE ??4EF>6, <5EF4 GEF4=>6>< M>E>464F>D4 < ?>65DE=>EF< D4764?4 =4 ?D>D<?5 < 
??4=5 G5DF564. 'E?>6=O5 <7>5D465=<O < >5>7=4G5=<O 745>56 M>E>464F>D>6 D47?<G=OE F<?>6. 

30. $47D45>F>4 GEFG?4 ?> FD4=E?>DF=>= F5E=>?>7<< =44 ?>?>7<< G7>?L=O< ??4EF><.  
 

31. $47D45>F>4 ?>?>7>7> G7>?L=>7> ??4EF4 ?DO<O<< >4DL5D=O<< ?>?4F4<<.  
 

32. $47D45>F>4 E6<FO <7 46GE E5?<65==OE ?>?>7<E G7>?L=OE ??4EF>6 >5D4F=O<< 7<4D46?<G5E><<<  
 
?>?4F4<<.  
 

33. $47D45>F>4 E6<FO <7 46GE E5?<65==OE =4>?>==OE G7>?L=OE ??4EF>6 >5D4F=O<< 7<4D46?<G5E><<< 
?>?4F4<<  
 

34. $47D45>F>4 =4>?>==>7> (4> 20º) ??4EF4 5G?L4>75D><-DOE?<F5?5< E ?>7DG7>>= G7?O ?DO<>= >4DL5D=>= 
?>?4F>= <?< >>?5E=O< ?>7DG7G<>><.  

 

 

6 �5D5G5=L >E=>6=>= < 4>?>?=<F5?L=>= GG55=>= ?<F5D4FGDO, =5>5E>4<<>= 4?O >E6>5=<O 
4<EF<??<=O "&5E=>?>7<O D47D45>F>< E?>6=>EFDG>FGD=OE <5EF>D>645=<=" 

 

6.1 �E=>6=4O ?<F5D4FGD4: 

1. �5=4L56, �.%. &5E=>?>7<O 6545=<O 7>D=OE D45>F =4 D47D574E ?D< D47D45>F>5 E?>6=>EFDG>FGD=OE 
<5EF>D>645=<=: GG55=>5 ?>E>5<5 / �.%. �5=4L56, �.�. �D>=>74, �.%. $54>F5=>>. 3 �5<5D>6>: �G54EE6G7<744F, 
2010. 3 248 E. 

2. �744=<e: �>?5E=<>>6,�.$. &D4=E?>DF=4O F5E=>?>7<O 6545=<O 6E>DOL=OE < 4>5OG=OE D45>F =4 D47D574E �G754EE4 
: GG55=>5 ?>E>5<5 / �. $. �>?5E=<>>6, �. �. �>DO><=, �. $. �>D>=>>6; ��' ��� "�G754E. 7>E. F5E=. G=-F" . - 
�5<5D>6>, 2009. - 94 E. http://library.kuzstu.ru/meto.php?n=90381&type=utchposob:common 
6.2. �>?>?=<F5?L=4O ?<F5D4FGD4: 
1. �=<EFD4F>6, .. �. &5E=>?>7<G5E><5 ?D>F5EEO >F>DOFOE 7>D=OE D45>F / .. �. �=<EFD4F>6, �. .. 

�=<EFD4F>6. 3 �.: ��� «�&& «�>D=>5 45?>», 2008. 3 448 E.  
2. �>?5E=<>>6, �. $. &5E=>?>7<O 6545=<O 6O5<>G=OE D45>F E ?D<<5=5=<5< 7<4D46?<G5E><E M>E>464F>D>6 / 

�. $. �>?5E=<>>6, �. �. �>DO><=, �. �. %FD5?L=<>>6. 3 �5<5D>6>: �G754EE6G7<744F, 2009. 3 143 E. 
  

7 �5D5G5=L D5EGDE>6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 
�D<F<4?L=O= E4=F �G754EE>>7> 7>EG44DEF65==>7> F5E=<G5E>>7> G=<65DE<F5F4 <<5=< &. $. �>D54G564. 

 

$56<< 4>EFG?4: www.kuzstu.ru. 
�D<F<4?L=O= E4=F D<?<4?4 �G7�&'  6 7. �5?>6> http://belovokyzgty.ru 

 
8 �5F>4<G5E><5 G>474=<O 4?O >5GG4NM<EEO ?> >E6>5=<N 4<EF<??<=O "&5E=>?>7<O D47D45>F>< 

E?>6=>EFDG>FGD=OE <5EF>D>645=<=" 

 

�E=>6=>= GG55=>= D45>F>= EFG45=F4 O6?O5FEO E4<>EF>OF5?L=4O D45>F4 6 F5G5=<5 6E57> ED>>4 >5GG5=<O. 
�4G<=4FL <7GG5=<5 4<EF<??<=O =5>5E>4<<> E >7=4>><?5=<O E F5?O<< < 7444G4<< 4<EF<??<=O < 7=4=<O<< < 
G<5=<O<<, ?D<>5D5F45<O<< 6 ?D>F5EE5 <7GG5=<O. �4?55 E?54G5F ?D>D45>F4FL >>=E?5>FO ?5>F<=, D4EE<>FD56 
>F45?L=O5 6>?D>EO ?> ?D54?>65==O< <EF>G=<>4< ?<F5D4FGDO. �E5 =5OE=O5 6>?D>EO ?> 4<EF<??<=5 EFG45=F 
<>65F D47D5L<FL =4 >>=EG?LF4F<OE, ?D>6>4<<OE ?> D4E?<E4=<N. �D< ?>47>F>6>5 > ?D4>F<G5E><< 74=OF<O< 
EFG45=F 6 >5O74F5?L=>< ?>DO4>5 <7GG45F F5>D5F<G5E><= <4F5D<4? 6 E>>F65FEF6<< E <5F>4<G5E><<< G>474=<O<< > 
?D4>F<G5E><< 74=OF<O<. 

 
9 �5D5G5=L <=D>D<4F<>==OE F5E=>?>7<=, <E?>?L7G5<OE ?D< >EGM5EF6?5=<< >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "&5E=>?>7<O D47D45>F>< E?>6=>EFDG>FGD=OE <5EF>D>645=<=", 6>?NG4O 
?5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O < <=D>D<4F<>==OE E?D46>G=OE E<EF5< 

 

�?O <7GG5=<O 4<EF<??<=O <>65F <E?>?L7>64FLEO E?54GNM55 ?D>7D4<<=>5 >55E?5G5=<5: 
 

 

 

 

 

 

 

 

 

 



�?O <7GG5=<O 4<EF<??<=O <>65F <E?>?L7>64FLEO E?54GNM55 ?D>7D4<<=>5 >55E?5G5=<5: 
1. ESET Remote Administrator 6  

   
2. Libre Office  

 
3. Mozilla Firefox  

 
10 �?<E4=<5 <4F5D<4?L=>-F5E=<G5E>>= 547O, =5>5E>4<<>= 4?O >EGM5EF6?5=<O >5D47>64F5?L=>7> 

?D>F5EE4 ?> 4<EF<??<=5 "&5E=>?>7<O D47D45>F>< E?>6=>EFDG>FGD=OE <5EF>D>645=<=" 
�?O >EGM5EF6?5=<O >5D47>64F5?L=>7> ?D>F5EE4 ?> 44==>= 4<EF<??<=5 =5>5E>4<<4 E?54GNM4O 

<4F5D<4?L=>-F5E=<G5E>4O 5474: 

- 'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= ?5>F<>==>7> F<?4,74=OF<= E5<<=4DE>>7> F<?4, >GDE>6>7> 
?D>5>F<D>64=<O, 7DG??>6OE < <=4<6<4G4?L=OE >>=EG?LF4F<=, F5>GM57> >>=FD>?O < ?D><56GF>G=>= 4FF5EF4F<< 
7107, >E=4MU==4O <G?LF<<54<==O< >5>DG4>64=<5<: �>GF5G> Acer ASPIRE 5542G 15.6 4N=<>6O= M>D4=, 2.2 ��F 
F4>F>64O G4EF>F4 , 3 �5 ��', 512 �5 6<45>?4<OFL. �=F5D4>F<6=4O E<EF5<4 ?>DF4F<6=4O E<F5<4 Triumph Portable 
Slim. �6G>>64O E<EF5<4 5.1. %<EF5<=O= 5?>> 2 LF.: 24 4N=<>6O= <>=<F>D, AMD 4 ��F, 8�5 ��', 1024 �5 
6<45>?4<OFL, 655->4<5D4. �>>G<5=F->4<5D4 AverVISION x16,  <=F5D4>F<6=4O ?D<EF46>4. �D>7D4<<=>5 
>55E?5G5=<5: Windows7, ?4>5FO  Office 2007 < 2010., Autocad 2015, MathCAD 12.0, ?D>7D4<<=O= >><??5>E Fire 3D. 

-  �?O E4<>EF>OF5?L=>= D45>FO EFG45=F>6 <E?>?L7G5FEO >><?LNF5D=O= >?4EE - 4G4<F>D<O 7 207 < 
G<F4?L=O= 74? =4GG=>-F5E=<G5E>>= 5<5?<>F5>< D<?<4?4 E GEF4=>6?5==O<< >><?LNF5D4<<, <<5NM<<< 6OE>4 6 
�=F5D=5F < 4>EFG?>< 6 M?5>FD>==GN <=D>D<4F<>==>->5D47>64F5?L=GN ED54G D<?<4?4.  

 

11 �=O5 E6545=<O < (<?<) <4F5D<4?O 
 

�D< >EGM5EF6?5=<< >5D47>64F5?L=>7> ?D>F5EE4 ?D<<5=ONFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<: 
- FD44<F<>==4O E <E?>?L7>64=<5< E>6D5<5==OE F5E=<G5E><E ED54EF6;  

 
- <=F5D4>F<6=4O.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



%?<E>> ?<F5D4FGDO ?> 4<EF<??<=5 «&5E=>?>7<O D47D45>F>< E?>6=>EFDG>FGD=OE <5EF>D>645=<=» ?> 
E>EF>O=<N =4 01.12.2017 7. 

�E=>6=4O ?<F5D4FGD4: 
1. �5=4L56, �.%. &5E=>?>7<O 6545=<O 7>D=OE D45>F =4 D47D574E ?D< D47D45>F>5 E?>6=>EFDG>FGD=OE 
<5EF>D>645=<=: GG55=>5 ?>E>5<5 / �.%. �5=4L56, �.�. �D>=>74, �.%. $54>F5=>>. 3 �5<5D>6>: �G54EE6G7<744F, 
2010. 3 248 E. 
2. �744=<e: �>?5E=<>>6,�.$. &D4=E?>DF=4O F5E=>?>7<O 6545=<O 6E>DOL=OE < 4>5OG=OE D45>F =4 D47D574E 
�G754EE4 : GG55=>5 ?>E>5<5 / �. $. �>?5E=<>>6, �. �. �>DO><=, �. $. �>D>=>>6; ��' ��� "�G754E. 7>E. F5E=. G=-F" . - 
�5<5D>6>, 2009. - 94 E. http://library.kuzstu.ru/meto.php?n=90381&type=utchposob:common 

�>?>?=<F5?L=4O ?<F5D4FGD4: 

1. �>?5E=<>>6, �. $. &5E=>?>7<O 6545=<O 6O5<>G=OE D45>F E ?D<<5=5=<5< 7<4D46?<G5E><E M>E>464F>D>6 / 
�. $. �>?5E=<>>6, �. �. �>DO><=, �. �. %FD5?L=<>>6. 3 �5<5D>6>: �G754EE6G7<744F, 2009. 3 143E. 
2. �=<EFD4F>6, .. �. &5E=>?>7<G5E><5 ?D>F5EEO >F>DOFOE 7>D=OE D45>F / .. �. �=<EFD4F>6, �. .. 
�=<EFD4F>6. 3 �.: ��� «�&& «�>D=>5 45?>», 2008. 3 448 E.  
3. $5?<=, �. /. �O5<>G=>-?>7DG7>G=O5 D45>FO / �. /. $5?<=, �. �. $5?<=. 3 �.: �>D=4O >=<74, 2010. 3 267E.  
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